

Name of College - S.S. College, J-Bad

Dept - Mathematics

Topic - Continuity and Differentiability
(Real Analysis)

TEACHER'S NAME - Dr. Shree Nalin-Sharma

Time - 9:00 A.M. 10:30 A.M.

Date - 19-04-2021

B.Sc II (HONS + Sub)

Problem. based on Differentiability
and

Problem $\rightarrow$ A Function $f(x)$, is defined as

$$f(x) = 1 + \sin x \quad 0 \leq x < \pi/2$$

$$f(x) = 2 + (x - \pi/2)^2 \quad \pi/2 \leq x < \infty$$

Discuss its differentiability at $x = \pi/2$

Solution $\rightarrow f(x)$ is differentiable at $x = \pi/2$ if $Rf'(\pi/2)$ and R is a Banach space and f is a function from R to R .

$Rf'(x/2)$ and $Lf'(x/2)$ does exist and are equal.

Where $R f'(\frac{\pi}{2}) = \lim_{h \rightarrow 0} \frac{f(\pi/2 + h) - f(\pi/2)}{h}$

$$L f'(\pi/2) = \lim_{h \rightarrow 0} \frac{F(\pi/2 - h) - F(\pi/2)}{h}$$

$f(x) = 1 + \sin x$ $f(x) = 2 + (x - \pi/2)^2$
 $\textcircled{x}$ $f(x) = 1 + \sin x$ $\textcircled{x}$ $f(x) = 2 + (x - \pi/2)^2$
 $x=0$ $0 < x < \pi/2$ $x = \pi/2$ $\pi/2 < x < \infty \rightarrow \infty$

for $Rf'(\pi/2)$

$$f(\pi/2) = 2 + (\pi/2 - \pi/2)^2 = 2$$

$$\begin{aligned} f(\pi/2+h) &= 2 + (\pi/2+h - \pi/2)^2 \\ &= 2+h^2 \end{aligned}$$

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} \quad \text{--- (1)}$$

$$= \lim_{h \rightarrow 0} \frac{2f(h) - f}{h} = \lim_{h \rightarrow 0} \frac{h^2}{h} = \lim_{h \rightarrow 0} h = 0$$

$$h f'(z) = \lim_{h \rightarrow 0} \frac{f(\pi/2 - h) - f(\pi/2)}{h} \quad (11)$$

$$f(\pi/2 - h) = 1 + \sin(\pi/2 - h) = 1 + \cos h$$

$$f(\pi/2) = 2 + (\pi/2 - \pi/2)^2 = 2$$

$$\begin{aligned}
 \therefore Lf'(2) &= \lim_{h \rightarrow 0} \frac{1 + \cos h - 2}{-h} \\
 &= \lim_{h \rightarrow 0} \frac{-1 + \cos h}{-h} \\
 &= \lim_{h \rightarrow 0} \frac{-(1 - \cos h)}{-h} = \lim_{h \rightarrow 0} \frac{1 - \cos h}{h} \\
 &= \lim_{h \rightarrow 0} \frac{2 \sin^2 h/2}{h} = 2 \lim_{h \rightarrow 0} \left(\frac{\sin h/2}{h/2} \right)^2 \times \frac{h^2}{4} \\
 &= 2 \lim_{h \rightarrow 0} \frac{h}{4} = 0
 \end{aligned}$$

Here we see $Rf'(2)$ and $Lf'(2)$ both exist and are equal.

Therefore $f(x)$ is differentiable at $x = \pi/2$

2. If $f(x) = \frac{x}{1 + e^x}$ $x \neq 0$

and $f(x) = 0$ when $x = 0$

Show that $f(x)$ is not differentiable

at $x = 0$

Solution $\rightarrow$ By the question

$$\begin{aligned}
 f(x) &= \frac{x}{1 + e^x} \quad x \neq 0 \\
 f(x) &= 0 \quad \text{When } x = 0
 \end{aligned}$$

$f(x)$ is differentiable at $x = 0$

if $Rf'(0)$ and $Lf'(0)$ both exist and are equal

Where $Rf'(0) = \lim_{h \rightarrow 0} \frac{f(0+h) - f(0)}{h}$

and $Lf'(0) = \lim_{h \rightarrow 0} \frac{f(0-h) - f(0)}{-h}$

$$\text{now } f(x) = \frac{x}{1+e^{1/x}} \quad f(0) = 0$$

$$Rf'(0) = \lim_{h \rightarrow 0^+} \frac{f(0+h) - f(0)}{h}$$

$$= \lim_{h \rightarrow 0^+} \frac{\frac{h}{1+e^{1/h}} - 0}{h}$$

$$= \lim_{h \rightarrow 0^+} \frac{h}{(1+e^{1/h}) \cdot h} = \lim_{h \rightarrow 0^+} \frac{1}{1+e^{1/h}} = \frac{1}{1+\infty} = \frac{1}{\infty} = 0$$

$$Lf'(0) = \lim_{h \rightarrow 0^-} \frac{f(0-h) - f(0)}{-h}$$

$$= \lim_{h \rightarrow 0^-} \frac{-\frac{h}{1+e^{1/h}} - 0}{-h}$$

$$= \lim_{h \rightarrow 0^-} \frac{1}{1+e^{1/h}}$$

$$= \lim_{h \rightarrow 0^-} \frac{1}{1+\frac{1}{e^h}}$$

$$= \lim_{h \rightarrow 0^-} \frac{1}{1+\frac{1}{\infty}}$$

$$= \lim_{h \rightarrow 0^-} \frac{1}{1+\frac{1}{\infty}}$$

$$= \lim_{h \rightarrow 0^-} \frac{1}{1+0} = 1$$

Here we see $Rf'(0)$ and $Lf'(0)$ both exist but are not equal

$\Rightarrow f(x)$ is not differentiable at $x = 0$

Problem 3. If $f(x) = x \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}}$ When $x \neq 0$
 $= 0$ When $x = 0$

Show that $f(x)$ is not differentiable at $x = 0$

Solution $\rightarrow$ Here. For the question

$$f(x) = x \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}} \quad \text{When } x \neq 0$$

$$f(x) = 0 \quad \text{When } x = 0$$

$f(x)$ is differentiable at $x = 0$.

if $Rf'(0)$ and $Lf'(0)$ does exist and equal

$$\text{Where } Rf'(0) = \lim_{h \rightarrow 0} \frac{f(0+h) - f(0)}{h}$$

$$Lf'(0) = \lim_{h \rightarrow 0} \frac{f(0-h) - f(0)}{-h}$$

$$Rf'(0) = \lim_{h \rightarrow 0} h \frac{e^{1/h} - e^{-1/h}}{h (e^{1/h} + e^{-1/h})}$$

$$= \lim_{h \rightarrow 0} \frac{e^{1/h} (1 - e^{-2/h})}{e^h (1 + e^{-2/h})}$$

$$= \lim_{h \rightarrow 0} \frac{1 - e^{-2/h}}{1 + e^{-2/h}} = \frac{1 - 0}{1 + 0} = 1$$

$$Lf'(0) = \lim_{h \rightarrow 0} \frac{f(0-h) - f(0)}{-h} = \lim_{h \rightarrow 0} \frac{-h (e^{-1/h} - e^{1/h})}{-h (e^{-1/h} + e^{1/h})}$$

$$= \lim_{h \rightarrow 0} \frac{e^{-2/h} - 1}{e^{-2/h} + 1} = \frac{0 - 1}{0 + 1} = -1$$

at $x = 0$

Here $Lf'(0) \neq Rf'(0)$
 $\therefore f(x)$ is not diff-